Pegel Nanzdietschweller
Ereignis 100, HQ 2
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N-Summe: 76,06
Scheitelabfluss: 25,8
Q Ereignisbeginn: 1,49
Ereignisdauer: 241
Abflussbeiwert: 37
N-Dauer: 5
max. N-intensitat: 18,59
mittl. N-intensitat: 15,21
Vorfeuchte: niedrig
Wetterlage: 40

Niederschlagsverteilung

EZG Nanzdietschweiler

[

GEWasser

o

E-.I Fr)

unkter 62,40
62,4 - 63,6
63,6 -64,8
64,5 - 66,0
66,0- 67,2
67,2 - 68,4
65,4 - 69,6
69,6 - 70,8
Foe-72,0
FE20-73,2
73,2-74,4
74.4-75,6
7o,6-76,8
Fe,8- 78,0
Fa,0-79,2
Fa.2-80,4
g0,4-51,6
gl,6-52,8
82,8 - 84,0
a4,0- 85,2
dber 85,20

mm
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